HOSES OFFICE OCC

INCLINATION AFFIDAVIT

1969 JUL 25 M 9 4 4 4

Field: Bishop Canyon San Andres OPERATOR: Tom Brown Drilling Co. Inc.

Lease: Huston

Well No. Two Unit G=

Located: 1980'from the North & East Lines of Section

Nine, Township 18 South, Range 38 East,

Lea County, New Mexico.

RECORD OF INCLINATION

Total				
Depth	Angle of Inc. (deg	<u>Displacement(feet</u>)	Displacement(feet)	
350	14 114	1.53	1.53	
835	$\mathbf{\hat{L}}_{a}^{1}$	10.58	12.11	
1400	1.	9 . 8 6	21.97	
1668	3/4	3.51	25.4 8	
1948	3/4	3.6 6	29.14	
2950		21.85	50.99	
3230	1	7.33	58.32	
3540	$1\frac{\mathbf{I}}{4}$	6.76	65.08	
398 7	$\mathbf{L}_{\overline{\underline{A}}}^{\overline{\underline{I}}}$	9.75	74.83	
4125	14	3.01	77.84	
4292	14 12	4.37	82.21	
4440	1 3/4	4.52	86.73	
4550	2	3.84	90.57	
		the state of the s		

Total displacement

90.571

Survey run in Open Hole, by Totco.

TOM BROWN DRILLING COMPANY.

STATE OF TEXAS)

COUNTY OF MIDLAND)

Before me the undersigned authority on this day personally appeared JOE S. HILL, known to me to be the person whose name is subscribed below, who, after being duly sworn, on oath states that he is agent for operator of the well identified in this instrument, and that such well was not intentially deviated from the vertical whatsoever.

Affiant

SUBSCRIBED AND SWORN to before me this 8th day of July,

1963.

Notary Public, Midland County, Texas.

My com. $\exp . 6-1-65$

$\frac{2\pi i}{\pi} = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2\pi} + \frac{\pi}{2\pi} \right) = \frac{\pi}{2\pi} \left(\frac{\pi}{2\pi} + \frac{\pi}{2$

and the second of the second o

•			
•			
e - 37	•		
		. •	
- L	e e e e e e e e e e e e e e e e e e e		
	•		
	•		
	÷		
*			
			- *
			= *

and the second of the second

the state of the s



 $\mathbf{u} = \mathbf{u} + (\mathbf{u} + \mathbf{u} +$